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QUESTION 1

KVM (Kernel-based Virtual Machine) virtual machine can run on other virtualization platforms after format conversion
on.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 2

In the OpensStack solution, which module does the load provide for persistent block storage?
A. Swift // Object Storage

B. Glance /Il Quick storage

C. Nova // Compute node life cycle

D. Cinder

Correct Answer: D

QUESTION 3

The following incorrect way to create a virtual machine template is.
A. Template clone to template

B. Virtual machine clone as a template

C. Virtual machine to template

D. Snapshot to template

Correct Answer: D

QUESTION 4

To configure the IP SAN for the host, you usually need to configure the host on the storage device to enable the host to
be mapped on the IP SAN Shoot.

A. ISCSI Target
B. ISCSI Server

C. ISCSI Client
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D. ISCCSI Initiator

Correct Answer: D

QUESTION 5

Cloud computing is the product of the development of the Internet and computing technology, so cloud computing must
be inseparable from the network

A. TRUE
B. FALSE

Correct Answer: A
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